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1. (a)

Explain the Slutsky equation for two commodities case. Give its economic
interpretation. 14

OR

Prove, with the help of example, that indifference curves are convex to the origin.

(b) If the utility function of a consumer is U = f(q;, q,) and his budget constraint is
y°=Dp,4q; + P,9,, derive conditions for consumer’s equilibrium.
2. (a) State the C.E.S. production function. Explain its characteristics. 14
OR
Discuss the characteristics of Cobb-Douglas production function.
(b) For production function q = f(x,, x(z)), prove that AP of X, is maximum at a point
where MP = AP.
3. The market demand and supply for wheat is given below : 14
Price in I/kg. 3.0 4.5 6.0 7.5 9.0 10.5 12.0

Supply (Million tonnes) | 4.0 4.5 5.0 5.5 6.0 6.5 7.0

Demand (Million tonnes) | 6.0 5.5 5.0 4.5 4.0 3.5 3.0

(1
2)

3)
4)

)
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What is the equilibrium price and quantity in wheat market ?

If Government announces Minimum Support Price (MSP) of ¥ 9.0, what will be its
effect on market ?

If Government fixes MSP of ¥ 4.5, what will its effect ?

If Government announces subsidy of ¥ 3 per kg for produces, what is new supply
schedule and new equilibrium price ?

How much this will cost to Government ?

OR

5 P.T.O.



(a) Inayear, number of cars sold decreased by 20%, price of cars increased by 5%, per
capita income decreased by 2%, and price of petrol increased by 10%. Income
elasticity of demand for cars is estimated to be + 1.5 and cross elasticity of petrol
and cars is estimated to be — 0.30.

(i) Find impact of decline in per capita income on demand of cars.
(1i1)) Find impact of increase in price of petrol on demand of cars.
(ii1) Find price elasticity of demand for cars.
(b) Total revenue function and cost function of a firm are R = 60Q and C = 10 + 5Q7.

Whose Q = Production, R = Total income and C = Total cost. Find out output for
maximum production and maximum profit.

4.  Following information is available for an economy : 14
Consumption: C=40+0.75Y, Y=C+I1+G

Investment I = 140 — 101

Government Expenditure G = 100

Tax T =80

Demand for money Md=0.2Y - 5i

Supply of money M?* = 85

(1) Derive equation for IS curve.

(i1)) Derive equation for LM curve.

(ii1) Find equilibrium income and interest rate.

(iv) If Government increases expenditure on education and health by 65 crores, what
will be its effect on equilibrium income and interest ?

OR
(a) Explain the Classical Model.
(b) Explain Keynes’ Model.

5. For each of the following questions, choose the best answer and write only its number

(a, b, ¢, d) in your answer book. 14
(1) Slutsky’s equation measures effect.

(a) income (b) substitution

(c) alternative (d) both (a) and (b) above

(2) If a utility function is U = f(q,, q,) and the budget constraint is y° = p,q; + p,d,,
then its Lagrange multiplier form will be

(@ V=1£(q;,q) +Ay°—p;q; —P,q,)
(b) V=1£(q;,q) - My°—p9; —P,9y)
() V=1£(q;,q) +Ay°+pq; +P,9,)
(d) V=1(q,q) 2 (°+pq;—Pydp)
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(3) The condition for consumer equilibrium is where
(a) The indifference curve and budget line touch each other.
(b) The indifference curve is above the budget line.
(¢) The indifference curve is below the budget line.
(d) none of the above

(4) Income elasticity of demand =

y dq Y dq
(a) q dy (b) q dy
q dy y dy
(©) y dq (d) q dq

where y = income; q = quantity demanded

(5) In Cobb-Douglas production function, the condition for constant returns to scale is

(@) at+f>1 (b) a+f<l
() a+p=1 d oa+p=0
(6) Which of the following is a short run cost function ?
(a C=100+2Q-3Q° (b) C=100Q*-2Q*+3Q
(c) C=100Q*+2Q°+3Q> (@ C=100Q°-2Q%*+400Q

(7) If C =1(Q) is a total cost function, where C = cost and Q = output, the condition
minimization of cost is

dcC d*C dc d*c

@ 4Q= 0y <0 ®) 4= %20
dcC d*c dc d*c

(©) dQ <0, sz <0 (d) dQ >0, sz =0

(8) Following table gives data about production and factors of production :
L | 10 | 20 | 40

K |15 ] 30 | 60
Q | 100 | 200 | 400

Where L = quantity of labour, K = quantity of capital, Q = output

This data shows law of returns to scale.
(a) increasing (b) decreasing
(c) constant (d) zero

TD-111 7 P.T.O.



(9) The condition for equilibrium of a firm in perfect competition is
(a) P=MC (b) P=MR
(c) P=TR (d P=AR

(10) In a perfectly competitive market the demand and supply function of a firm are

respectively Qd =750 — 25 P and Q° = 300 + 20 P. The equilibrium price and
quantity are

(a) P=10,Q=500 (b) P=15,Q=400
(c) P=20,Q=500 (d P=30,Q=600
(11) The long run equilibrium condition for a monopolist is
(a) MR =LMC=SMC (b) MR >LMC + SMC
(c) MR <LMC+SMC (d) None of the above
(12) Investment multiplier =
Ay dy
@) 3] C) T
1
(©) MPS (d) All of the above
(13) According to classical economists, the economy is in equilibrium when
(a) S=1I (b) S>I
(c) S<I (d) None of the above (a), (b) & (¢)
(14) The formula for government expenditure multiplier is
d dG
@ oG ® &
dl dG
(©) dG (d) dI
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